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   2𝑥 − 𝑦 = 8
           +𝑦   + 𝑦
           2𝑥 = 8 + 𝑦
          −8   − 8
(2𝑥 − 8) = 𝑦

(2(4) − 8) = 𝑦
                  0 = 𝑦

              𝑥 + 2𝑦 = 4

𝑥 + 2(2𝑥 − 8) = 4
    𝑥 + 4𝑥 − 16 = 4
            5𝑥 − 16 = 4
                   +16  + 16

                     
5𝑥

5
⎯⎯⎯=

20

5
⎯⎯⎯

                       𝑥 = 4

𝑥 + 𝑦 = 4 + 0 = 4

2(𝑥ଶ − 𝑥) + 3(𝑥ଶ − 𝑥) =
2𝑥ଶ − 2𝑥 + 3𝑥ଶ − 3𝑥 =
5𝑥ଶ − 5𝑥

2𝑦 − 3𝑥 = −4
       +3𝑥    + 3𝑥
          2𝑦 = 3𝑥 − 4

          
2𝑦

2
⎯⎯⎯=

3𝑥

2
⎯⎯⎯−

4

2
⎯⎯

            𝑦 =
3

2
⎯⎯𝑥 − 2

𝑦 = 𝑚𝑥 + 𝑏

𝑦 = 𝑚𝑥 + 𝑏

ℎ = 8𝑠 + 15

𝑙𝑒𝑡 ℎ = ℎ𝑒𝑖𝑔ℎ𝑡
𝑙𝑒𝑡 𝑠 = # 𝑜𝑓 𝑠𝑒𝑐𝑜𝑛𝑑𝑠

𝑚 = +
3

2
⎯⎯ 𝑦 − 𝑖𝑛𝑡 = (0, −2)

𝐶 = 75ℎ + 125 𝑙𝑒𝑡 𝐶 = 𝐷𝑜𝑙𝑙𝑎𝑟 𝐶ℎ𝑎𝑟𝑔𝑒
𝑙𝑒𝑡 ℎ = ℎ𝑜𝑢𝑟𝑠

𝐶 = 75ℎ + 125
𝐶 = 75(0) + 125
𝐶 = 0 + 125
𝐶 = 125

𝐶 = 75ℎ + 125
𝐶 = 75(2) + 125
𝐶 = 150 + 125
𝐶 = 375

375 − 125 = 150

𝐶 = 0,2
𝐶 = 1,3
𝐶 = 2,4

Arbitrary

SAT # 9 - #1,2,3,4,5
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A

𝐵

𝐶

𝐷100௢
5𝜋 

A

𝐶

           𝑎 = 𝑟𝜃

        5𝜋 = 𝑟 ቆ
5𝜋

9
⎯⎯⎯ቇ

9 × 5𝜋 = 𝑟 ቆ
5𝜋

9
⎯⎯⎯ቇ × 9

     45𝜋 = 5𝜋𝑟

    
45𝜋

5𝜋
⎯⎯⎯⎯=

5𝜋𝑟

5𝜋
⎯⎯⎯

          𝑟 = 9

𝑂

100௢ ×
𝜋

180௢
⎯⎯⎯⎯⎯=

5𝜋

9
⎯⎯⎯ 𝜋 = 180௢

𝐶 = 2𝜋𝑟
𝐶 = 2𝜋(9)
𝐶 = 18𝜋

18𝜋 − 5𝜋 = 13𝜋

𝑎𝑟𝑐 𝑙𝑒𝑛𝑔𝑡ℎ

𝐶𝑖𝑟𝑐𝑢𝑚𝑓𝑒𝑟𝑒𝑛𝑐𝑒
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

𝜃

360௢
⎯⎯⎯⎯⎯

                        
𝑎

2𝜋𝑟
⎯⎯⎯ =

𝜃

360௢
⎯⎯⎯⎯⎯

                        
5𝜋

2𝜋𝑟
⎯⎯⎯ =

100

360
⎯⎯⎯

                           
5

2𝑟
⎯⎯⎯=

100

360
⎯⎯⎯

                 360 × 5 = 100 × 2𝑟
                      1800 = 200𝑟

                      
1800

200
⎯⎯⎯⎯⎯=

200

200
⎯⎯⎯ 𝑟

                              𝑟 = 9

        
8

𝑥
⎯⎯= 160

𝑥 ×
8

𝑥
⎯⎯= 160 × 𝑥 

        8 = 160𝑥

   
8

160
⎯⎯⎯ =

160𝑥

160
⎯⎯⎯⎯⎯

  0.05 = 𝑥

2𝑎𝑥 − 15 = 3(𝑥 + 5) + 5(𝑥 − 1)
2𝑎𝑥 − 15 = 3𝑥 + 15 + 5𝑥 − 5
2𝑎𝑥 − 15 = 8𝑥 + 10
          +15           + 15
          2𝑎𝑥 = 8𝑥 + 25

          2𝑎𝑥 = 8𝑥

          
2𝑎𝑥

𝑥
⎯⎯⎯ =

8𝑥

𝑥
⎯⎯⎯

            2𝑎 = 8

            
2𝑎

2
⎯⎯⎯=

8

2
⎯⎯

              𝑎 = 4

              0 ≠ 25
No Solution
# ≠ #

          2𝑎𝑥 = 8𝑥 + 25
      2(4)𝑥 = 8𝑥 + 25
            8𝑥 = 8𝑥 + 25
        −8𝑥 − 8𝑥
               0 ≠ 25

SAT # 9 - #6,7,8
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𝑥

𝑥 − 3
⎯⎯⎯⎯⎯=

2𝑥

2
⎯⎯⎯

                   
𝑥

𝑥 − 3
⎯⎯⎯⎯⎯= 𝑥

(𝑥 − 3) ×
𝑥

𝑥 − 3
⎯⎯⎯⎯⎯= 𝑥 × (𝑥 − 3)

                           𝑥 = 𝑥(𝑥 − 3)
                           𝑥 = 𝑥ଶ − 3𝑥
                       −𝑥              − 𝑥
                           0 = 𝑥ଶ − 4𝑥
                           0 = 𝑥(𝑥 − 4)

𝑥 = 0 𝑥 − 4 = 0
     +4   + 4
        𝑥 = 4

𝑥 − 3 ≠ 0
     +3   + 3
       𝑥 ≠ 3

SAT # 9 - #9,10,11
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1

2𝑥 + 1
⎯⎯⎯⎯⎯⎯+ 5

1

2𝑥 + 1
⎯⎯⎯⎯⎯⎯+

5

1
⎯⎯×

2𝑥 + 1

2𝑥 + 1
⎯⎯⎯⎯⎯⎯

1

2𝑥 + 1
⎯⎯⎯⎯⎯⎯+

10𝑥 + 5

2𝑥 + 1
⎯⎯⎯⎯⎯⎯⎯

10𝑥 + 6

2𝑥 + 1
⎯⎯⎯⎯⎯⎯⎯

(3,1)

(4,5)(2,5)

 𝑦 = 𝑎(𝑥 − 𝑝)ଶ + 𝑞 
 𝑦 = 𝑎(𝑥 − 3)ଶ + 1
 𝑦 = 𝑎(𝑥 − 3)ଶ + 1

 5 = 𝑎(4 − 3)ଶ + 1
 5 = 𝑎(−1)ଶ + 1
 5 = 1𝑎 + 1
−1          = 1
4 = 𝑎

 𝑦 = 4(𝑥 − 3)ଶ + 1

SAT # 9 - #12,13
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𝑦 ≥ 𝑥 + 2

2𝑥 + 3𝑦 ≤ 6

𝑦 = 𝑚𝑥 + 𝑏

      𝒙       𝒚

      0

      0

Zero-Zero Test*

Test Point
(𝑥, 𝑦)
(0,0)

Correct: Shade the (0,0) side of the line.

Substitute for 𝑥 and 𝑦.

Choose a Point on 
either side of the Line

𝑦 ≥ 𝑥 + 2
0 ≥ 0 + 2
0 ≥ 2

≤, ≥

<, >

Not Included

Included

(open, round, dotted)

(closed, square, solid)

Incorrect:  Shade the "NOT" (0,0) side of the line.

        2𝑥 + 3𝑦 ≤ 6
2(0) + 3(0) ≤ 6
                    0 ≤ 6

SAT # 9 - #14
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      √𝑥 + 2
⎯⎯⎯⎯⎯ 

= −𝑥

൫√𝑥 + 2
⎯⎯⎯⎯⎯ 

൯
ଶ

= (−𝑥)ଶ

         𝑥 + 2 = 𝑥ଶ

      −𝑥 − 2       − 𝑥 − 2
                 0 = 𝑥ଶ − 𝑥 − 2
                 0 = (𝑥 − 2)(𝑥 + 1)

𝑥 − 2 = 0
        𝑥 = 2

𝑥 + 1 = 0
        𝑥 = −1

      √𝑥 + 2
⎯⎯⎯⎯⎯ 

= −𝑥

      √2 + 2
⎯⎯⎯⎯⎯ 

= −2

              √4
⎯⎯ 

= −2
                 2 = −2

        √𝑥 + 2
⎯⎯⎯⎯⎯ 

= −𝑥

ඥ(−1) + 2
⎯⎯⎯⎯⎯⎯⎯⎯  = −(−1)

                √1
⎯⎯ 

= 1
                   1 = 1

9cm

4cm
10cm

Rectangular Prism

Base

𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)
𝑉 = (𝑙 × 𝑤) × (ℎ)
𝑉 = 𝑙𝑤ℎ

𝑉 = 𝑙𝑤ℎ
𝑉 = 4 × 9 × 10

𝑉 = 360𝑐𝑚ଷ

4𝑥 + 2 = 4
       −2    − 2
        4𝑥 = 2

        
4𝑥

4
⎯⎯⎯=

2

4
⎯⎯

          𝑥 =
1

2
⎯⎯

𝑦 = 𝑓(𝑥)

𝑔(𝑥) = 𝑓(𝑥) + 6 𝑓(𝑥) max ∶ 𝑦 = 2
𝑔(𝑥) = 𝑓(𝑥) + 6
𝑔(𝑥) = 2 + 8

SAT # 9 - #15,16,17
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𝑠𝑖𝑛𝑅 =
4

5
⎯⎯

𝑅

Hyp=5
𝑂𝑝𝑝 = 4

𝑎𝑑𝑗 = 3

𝑡𝑎𝑛𝜃 =
𝑜𝑝𝑝

𝑎𝑑𝑗
⎯⎯⎯

𝑡𝑎𝑛𝜃 =
4

3
⎯⎯

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

4ଶ + 𝑏ଶ = 5ଶ

16 + 𝑏ଶ = 25
−66            − 16
           𝑏ଶ = 9

        ඥ𝑏ଶ
⎯⎯⎯ 

= √9
⎯⎯ 

              𝑏 = 3
          𝑎𝑑𝑗 = 3

𝑦 = 𝑚𝑥 + 𝑏

𝑓(𝑥) = 𝑦

𝑓(𝑥) = −2𝑥 + 3 𝑚௣௘௥௣ =
1

2
⎯⎯

Negative Reciprocal

𝑔(𝑥) =
1

2
⎯⎯𝑥 + 𝑏

       3 =
1

2
⎯⎯(1) + 𝑏

       3 =
1

2
⎯⎯+ 𝑏

    −
1

2
⎯⎯  −

1

2
⎯⎯

        𝑏 =
5

 2
⎯⎯ 

𝑔(𝑥) =
1

2
⎯⎯𝑥 +

5

2
⎯⎯

(1,3)         3 −
1

2
⎯⎯

2

2
⎯⎯× 3 −

1

2
⎯⎯

        
6

2
⎯⎯−

1

2
⎯⎯=

5

2
⎯⎯ 

𝑔(𝑥) =
1

2
⎯⎯𝑥 +

5

2
⎯⎯

𝑔(0) =
1

2
⎯⎯(0) +

5

2
⎯⎯=

5

2
⎯⎯

SAT # 9 - #15,16,17

   SAT Page 8    



3𝑥 + 3 = 27
       −3    − 3
        3𝑥 = 24

        
3𝑥

3
⎯⎯⎯=

24

3
⎯⎯⎯

          𝑥 = 8

    3𝑥 + 3 = 27
3(3) + 3 = 27
      9 + 3 = 27
            12 ≠ 27

    3𝑥 + 3 = 27
3(8) + 3 = 27
    24 + 3 = 27
            27 = 27

       
2𝑛

5
⎯⎯⎯= 10

5 ×
2𝑛

5
⎯⎯⎯= 10 × 5

        2𝑛 = 50

        
2𝑛

2
⎯⎯⎯=

50

2
⎯⎯⎯

          𝑛 = 25

      2𝑛 − 1 =
2(25) − 1 =
      50 − 1 = 49

1 𝑐𝑢𝑏𝑖𝑡 = 7 𝑝𝑎𝑙𝑚𝑠

140 𝑐𝑢𝑏𝑖𝑡𝑠 ×
7 𝑝𝑎𝑙𝑚𝑠

1 𝑐𝑢𝑏𝑖𝑡
⎯⎯⎯⎯⎯⎯⎯ = 980 𝑝𝑎𝑙𝑚𝑠

ඥ𝑥ଶ
⎯⎯⎯ 

= 𝑥        ඥ𝑥ଶ
⎯⎯⎯ 

= 𝑥 

ඥ(−4)ଶ
⎯⎯⎯⎯⎯⎯ 

= −4

       √16
⎯⎯⎯ 

= −4
            4 ≠ 4

    ඥ𝑥ଶ
⎯⎯⎯ 

= 𝑥

ඥ(0)ଶ
⎯⎯⎯⎯ 

= 0
         0 = 0

    ඥ𝑥ଶ
⎯⎯⎯ 

= 𝑥

ඥ(1)ଶ
⎯⎯⎯⎯ 

= 1
         1 = 1

SAT #9 - 1,2,3,4,5/6*
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20௢ 𝐶

𝑥௢

𝐵

𝐴

40௢

𝐷

𝑦௢

𝐸

100௢

20௢ 𝐶

𝑥௢

𝐵

𝐴

40௢

𝐷

𝑦௢

𝐸

100௢

180 − 100 − 20 = 60௢

60௢

180 − 60 − 40 = 80௢

80௢

20௢ 𝐶

𝑥௢

𝐵

𝐴

40௢

𝐷

𝑦௢

𝐸

100௢

60௢

60௢

20௢ 𝐶

𝑥௢

𝐵

𝐴

40௢

𝐷

𝑦௢

𝐸

100௢

180 − 100 − 20 = 60௢

60௢

60௢

SAT #9 - 7
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(0,3) (1,5)

𝑚 =
𝑦ଶ − 𝑦ଵ

𝑥ଶ − 𝑥ଵ
⎯⎯⎯⎯⎯⎯⎯

𝑚 =
5 − 3

1 − 0
⎯⎯⎯⎯⎯=

2

1
⎯⎯

𝑚 =
$2

1 𝑚𝑖𝑙𝑒
⎯⎯⎯⎯⎯⎯

Beverages 
Purchased

Beverage Not 
Purchased

Total

Gasoline 
Purchased

60 25 85

Gasoline Not 
Purchased

35 15 50

Total 95 40 135

1

4
⎯⎯→  𝐹𝑟𝑒𝑠ℎ𝑚𝑎𝑛, 

1

3
⎯⎯→ 𝑆𝑜𝑝ℎ𝑜𝑚𝑜𝑟𝑒𝑠,

1

2
⎯⎯ 𝑟𝑒𝑚𝑎𝑖𝑛𝑖𝑛𝑔 →  𝐽𝑢𝑛𝑖𝑜𝑟𝑠,

336 𝑇𝑜𝑡𝑎𝑙.

          1 −
1

4
⎯⎯−

1

3
⎯⎯

12

12
⎯⎯⎯× 1 −

1 × 3

4 × 3
⎯⎯⎯⎯⎯−

1 × 4

3 × 4
⎯⎯⎯⎯⎯

              
12

12
⎯⎯⎯−

3

12
⎯⎯⎯−

4

12
⎯⎯⎯=

5

12
⎯⎯⎯

5

12
⎯⎯⎯÷ 2

5

12
⎯⎯⎯÷

2

1
⎯⎯

5

12
⎯⎯⎯×

1

2
⎯⎯=

5

24
⎯⎯⎯

5

24
⎯⎯⎯×

336

1
⎯⎯⎯ = 70

ቆ1 −
1

4
⎯⎯−

1

3
⎯⎯ቇ ÷ 2 × 336 = 70

3.1 𝑚𝑖𝑙𝑒𝑠 ×
⬚

⬚
⎯⎯=

3.1 𝑚𝑖𝑙𝑒𝑠 ×
⬚

              𝑚𝑖𝑙𝑒
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ =

3.1 𝑚𝑖𝑙𝑒𝑠 ×
1𝑘𝑚

0.6214𝑚𝑖𝑙𝑒
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 5 𝑚𝑖𝑙𝑒𝑠

3.1 𝑚𝑖𝑙𝑒𝑠 ×
           𝑘𝑚

              𝑚𝑖𝑙𝑒
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ =

3.1 𝑚𝑖𝑙𝑒𝑠 ×
1𝑘𝑚

0.6214𝑚𝑖𝑙𝑒
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

SAT #9 - 8,9,10,12
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𝑃𝑙𝑎𝑛𝑡 𝐴 = 20𝑐𝑚
𝑃𝑙𝑎𝑛𝑡 𝐵 = 12𝑐𝑚

𝐴 ∶ 𝐵
𝐶 ∶ 𝐷

20 ∶ 12
54 ∶ 𝐷

  5 ∶ 3
54 ∶ 𝐷

𝑙𝑒𝑡 𝑥 = # 100 𝑝𝑜𝑢𝑛𝑑𝑠 100 𝑝𝑎𝑐𝑘𝑎𝑔𝑒𝑠
𝑙𝑒𝑡 𝑦 = # 120       "        100        "

𝑥 + 𝑦 ≥ 10
    −𝑦      − 𝑦
        𝑥 ≥ 10 − 𝑦

                  100𝑥 + 120𝑦 ≤ 1100
    100(10 − 𝑦) + 120𝑦 ≤ 1100
   1000 − 100𝑦 + 120𝑦 ≤ 1100
−1000                               − 1000
                                     20𝑦 ≤ 100

                                     
20𝑦

20
⎯⎯⎯ ≤

100

20
⎯⎯⎯

                                          𝑦 ≤ 5
𝑥 + 𝑦 ≥ 10
    −𝑦      − 𝑦
        𝑥 ≥ 10 − 𝑦
        𝑥 ≥ 10 − (5)
        𝑥 ≥ 5

𝑥 + 𝑦 ≥ 10
𝑥 + 4 ≥ 10
        𝑥 ≥ 6

𝑦 = 4∗
       100𝑥 + 120𝑦 ≤ 1100
100(6) + 120(4) ≤ 1100
             600 + 480 ≤ 1100
                       1080 ≤ 1100

𝑥 + 𝑦 ≥ 10
𝑥 + 5 ≥ 10
        𝑥 ≥ 5

𝑦 = 5∗
       100𝑥 + 120𝑦 ≤ 1100
100(5) + 120(5) ≤ 1100
             500 + 600 ≤ 1100
                       1100 ≤ 1100

𝑥 + 𝑦 ≥ 10
𝑥 + 6 ≥ 10
        𝑥 ≥ 4

𝑦 = 6∗
       100𝑥 + 120𝑦 ≤ 1100
100(4) + 120(6) ≤ 1100
             400 + 720 ≤ 1100
                       1120 ≤ 1100

SAT #9 - 11*13
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𝐶ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑣𝑎𝑙𝑢𝑒

𝑡𝑖𝑚𝑒
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

120000 − 30000

10
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

90000

10
⎯⎯⎯⎯⎯⎯= 9000

𝑣 = 120000 − 9000𝑡

       (4𝑥 + 4)(𝑎𝑥 − 1) − 𝑥ଶ + 4 = 𝑏𝑥
4𝑎𝑥ଶ − 4𝑥 + 4𝑎𝑥 − 4 − 𝑥ଶ + 4 = 𝑏𝑥

4𝑎𝑥ଶ − 𝑥ଶ = 0𝑥ଶ

𝑥ଶ(4𝑎 − 1) = 0𝑥ଶ
    −4𝑥 + 4𝑎𝑥 = 𝑏𝑥
   𝑥(−4 + 4𝑎) = 𝑏𝑥

−4 + 4 = 0

4𝑎 − 1 = 0
       +1    + 1
        4𝑎 = 1

        
4𝑎

4
⎯⎯⎯=

1

4
⎯⎯

          𝑎 =
1

4
⎯⎯

     −4 + 4𝑎 = 𝑏

−4 + 4 ቆ
1

4
⎯⎯ቇ = 𝑏

        −4 + 1 = 𝑏
                   3 = 𝑏

(2,4)(0,1)

𝑚 =
4 − 1

2 − 0
⎯⎯⎯⎯⎯=

4

2
⎯⎯= 2

𝑦 = 𝑚𝑥 + 𝑏
𝑦 = 2𝑥 + 𝑏
1 = 2(0) + 𝑏
1 = 0 + 𝑏
1 = 𝑏

𝑦 = 2𝑥 + 1 𝑦 − 𝑚𝑥 + 𝑏

SAT #9 - 14,15,16
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2𝑤 + 4𝑡 = 14
(2𝑤 + 4𝑡 = 14) × 2
4𝑤 + 8𝑡 = 28

4𝑤 + 5𝑡 = 25

       2𝑤 + 3𝑡 =
2(5) + 3(1) =
          10 + 3 = 13

     4𝑤 + 8𝑡 = 28   
−(4𝑤 + 5𝑡 = 25)
                 3𝑡 = 3

                
3𝑡

3
⎯⎯ =

3

3
⎯⎯

                   𝑡 = 1

    2𝑤 + 4𝑡 = 14
2𝑤 + 4(1) = 14
       2𝑤 + 4 = 14
               −4    − 4
              2𝑤 = 10

               
2𝑤

2
⎯⎯⎯=

10

2
⎯⎯⎯

                  𝑤 = 5

𝐶𝑟𝑢𝑛𝑐ℎ𝑦 𝐺𝑟𝑎𝑖𝑛 𝐶𝑒𝑟𝑒𝑎𝑙

1 𝑆𝑒𝑟𝑣𝑖𝑛𝑔 =
3

4
⎯⎯ 𝑐𝑢𝑝 = 160 𝑂𝑡ℎ𝑒𝑟 𝐶𝑎𝑙𝑜𝑟𝑖𝑒𝑠, 50 𝐹𝑎𝑡 𝐶𝑎𝑙𝑜𝑟𝑖𝑒𝑠 = 180 𝑚𝑔 𝑃𝑜𝑡𝑎𝑠𝑠𝑖𝑢𝑚 = 5% 𝐷𝑎𝑖𝑙𝑦

210 − 50 = 160

𝑙𝑒𝑡 𝑝 = % 𝑃𝑜𝑡𝑎𝑠𝑠𝑖𝑢𝑚
𝑙𝑒𝑡 𝑥 = # 𝐶𝑢𝑝𝑠 𝐶𝑟𝑢𝑛𝑐ℎ𝑦 𝐶𝑒𝑟𝑒𝑎𝑙 𝑆𝑒𝑟𝑣𝑖𝑛𝑔𝑠

𝑝 = 5𝑥

𝑆𝑢𝑝𝑒𝑟 𝐺𝑟𝑎𝑖𝑛 𝐶𝑒𝑟𝑒𝑎𝑙
1 𝑆𝑒𝑟𝑣𝑖𝑛𝑔 = 1 𝑐𝑢𝑝 = 240 𝐶𝑎𝑙𝑜𝑟𝑖𝑒𝑠

𝑙𝑒𝑦 𝑦 = # 𝐶𝑢𝑝𝑠 𝑆𝑢𝑝𝑒𝑟 𝐶𝑒𝑟𝑒𝑎𝑙 𝑆𝑒𝑟𝑣𝑖𝑛𝑔𝑠
𝑙𝑒𝑡 𝐶 = 𝑇𝑜𝑡𝑎𝑙 𝐶𝑎𝑙𝑜𝑟𝑖𝑒𝑠

    𝐶 = 280𝑥 + 240𝑦
270 = 280𝑥 + 240𝑦

270 = 280(1 − 𝑦) + 240𝑦
   270 = 280 − 280𝑦 + 240𝑦
−280   − 280
−10 = −40𝑦
−10

−40
⎯⎯⎯⎯= −

40𝑦

−40
⎯⎯⎯⎯

𝑦 =
1

4
⎯⎯

3

4
⎯⎯ 𝑐𝑢𝑝 = 210 𝐶𝑎𝑙

1 𝑐𝑢𝑝 = 280

𝑥 + 𝑦 = 1
     −𝑦   − 𝑦
        𝑥 = 1 − 𝑦

𝑥 = 1 −
1

4
⎯⎯

𝑥 =
3

4
⎯⎯

SAT #9 - 17,18,19,20*
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𝑦 = ℎ(𝑥) 𝑦 − 𝑖𝑛𝑡 ∶ (0, 𝑑); 𝑑 > 0 =

ℎ(𝑥) = −3(𝑑)௫

ℎ(0) = −3(𝑑)଴

ℎ(0) = −3(1)
ℎ(𝑥) = −3

ℎ(𝑥) = 𝑑(3)௫

ℎ(0) = 𝑑(3)଴

ℎ(0) = 𝑑(1)
ℎ(0) = 𝑑

Median

Not Random Sample

       𝑓(𝑥) = 5𝑥ଶ − 3
𝑓(𝑥 + 𝑎) = 5(𝑥 + 𝑎)ଶ − 3
𝑓(𝑥 + 𝑎) = 5(𝑥 − 𝑎)(𝑥 − 𝑎) − 3
𝑓(𝑥 + 𝑎) = 5(𝑥ଶ − 𝑥𝑎 − 𝑥𝑎 + 𝑎ଶ) − 3
𝑓(𝑥 + 𝑎) = 5(𝑥ଶ − 2𝑥𝑎 + 𝑎ଶ) − 3
𝑓(𝑥 + 𝑎) = 5𝑥ଶ − 10𝑥𝑎 + 5𝑎ଶ − 3

𝑓(𝑥 + 𝑎) = 5𝑥ଶ + 30𝑥 + 42

    −10𝑥𝑎 = 30𝑥

−10(3)𝑎 = 30(3)
      −30𝑎 = 90

      
−30𝑎

−30
⎯⎯⎯⎯⎯ =

90

−30
⎯⎯⎯⎯

               𝑎 = −30

5𝑎ଶ − 3 = 42
         +3   + 3
        5𝑎ଶ = 45

        
5𝑎ଶ

5
⎯⎯⎯ =

45

5
⎯⎯⎯

          𝑎ଶ = 9

      ඥ𝑎ଶ
⎯⎯⎯ 

= √9
⎯⎯ 

           𝑎 = ±3

    −10𝑥𝑎 = 30𝑥

−10(−3)𝑎 = 30(−3)
         +30𝑎 = −90

            
30𝑎

30
⎯⎯⎯⎯=

−90

30
⎯⎯⎯⎯

                 𝑎 = −30

SAT #9 - 21,22,23,24
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𝑠𝑖𝑛𝑥௢ =
𝑎

1
⎯⎯=

𝑜𝑝𝑝

ℎ𝑦𝑝
⎯⎯⎯

𝑥௢

𝑎
1

𝑐𝑜𝑠𝑥௢ = ඥ1 − 𝑎ଶ
⎯⎯⎯⎯⎯⎯ 

   𝑎ଶ + 𝑏ଶ = 𝑐ଶ

   𝑎ଶ + 𝑏ଶ = 1ଵ

−𝑎ଶ               − 𝑎ଶ

             𝑏ଶ = 1 − 𝑎ଵ

               𝑏 = ඥ1 − 𝑎ଶ
⎯⎯⎯⎯⎯⎯ 

ඥ1 − 𝑎ଶ
⎯⎯⎯⎯⎯⎯ 

ℎ(𝑥) = −16𝑥ଶ + 100𝑥 + 10

𝑦 − 𝑖𝑛𝑡 ∶ (0,10) 𝐼𝑛𝑖𝑡𝑖𝑎𝑙 𝐻𝑒𝑖𝑔ℎ𝑡
𝑥 − 𝑖𝑛𝑡 ∶ 𝐻𝑜𝑤 𝑓𝑎𝑟 𝑖𝑡 𝑔𝑜𝑒𝑠
𝑉𝑒𝑟𝑡𝑒𝑥 ∶  𝑀𝑎𝑥 𝐻𝑒𝑖𝑔ℎ𝑡

𝑦 = 3𝑥ଶ + 6𝑥 + 2

𝑦 − 𝑖𝑛𝑡 ∶ (0,2) 

𝑦 = 0.096𝑥 − 0.488

𝑆𝑙𝑜𝑝𝑒 = 0.096 $ 𝑝𝑒𝑟 ℎ𝑜𝑢𝑟 𝑖𝑛𝑐𝑟𝑒𝑎𝑠𝑒 𝑝𝑒𝑟 𝑦𝑒𝑎𝑟

𝑑 = 33𝑡 + 300

SAT #9 - 25,26,27,28
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(4,0) (20,0)

(ℎ, 𝑘)

10

(𝑥 − ℎ)ଶ + (𝑦 − 𝑘)ଶ = 𝑟ଶ

(𝑥 − ℎ)ଶ + (𝑦 − 𝑘)ଶ = 10ଶ

(𝑥 − ℎ)ଶ + (𝑦 − 𝑘)ଶ = 100

10

(𝑥 − ℎ)ଶ + (𝑦 − 𝑘)ଶ = 100
(4 − ℎ)ଶ + (0 − 𝑘)ଶ = 100
  16 − 8ℎ + ℎଶ + 𝑘ଶ = 100

  (𝑥 − ℎ)ଶ + (𝑦 − 𝑘)ଶ = 100
(20 − ℎ)ଶ + (0 − 𝑘)ଶ = 100
400 − 40ℎ + ℎଶ + 𝑘ଶ = 100

          16 − 8ℎ + ℎଶ + 𝑘ଶ = 100
−(400 − 40ℎ + ℎଶ + 𝑘ଶ = 100)
                      −384 + 32ℎ = 0
                      +384                + 384
                                      32ℎ = 384

                                      
32ℎ

32
⎯⎯⎯ =

384

32
⎯⎯⎯

                                           ℎ = 12
            400 − 40ℎ + ℎଶ + 𝑘ଶ = 100
400 − 40(12) + (12)ଶ + 𝑘ଶ = 100
                                      64 + 𝑘ଶ = 100
…
                                                   𝑘 = 6

(4,0) (20,0)

(ℎ, 𝑘)

1010
6

8 8

𝑘 = 6

SAT #9 - 31
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𝑦 − 𝑖𝑛𝑡 ∶ (0, −13) 𝑦 = −
2

3
⎯⎯𝑥

𝑚௣௘௥௣ =
3

2
⎯⎯

𝑦 = 𝑚𝑥 + 𝑏

𝑦 =
3

2
⎯⎯𝑥 − 13

𝑃(𝐵|−) =
1

9
⎯⎯

𝑅ℎ𝑒𝑠𝑢𝑠 𝐹𝑎𝑐𝑡𝑜𝑟      𝐴      𝐵     𝐴𝐵      𝑂

            +      33      9       3     37      82

            −       7       2       1      𝑥 10 + 𝑥

    40     11       4 37 + 𝑥 92 + 𝑥

𝑃(𝐵|−) =
2

10 + 𝑥
⎯⎯⎯⎯⎯⎯

                      
1

9
⎯⎯=

2

10 + 𝑥
⎯⎯⎯⎯⎯⎯

(10 + 𝑥) × 1 = 2 × 9
            10 + 𝑥 = 18
         −10        − 10
                      𝑥 = 8

8 − 1ᇱ𝑠
9 − 2ᇱ𝑠
6 − 3ᇱ𝑠
3 − 4ᇱ𝑠
2 − 5ᇱ𝑠
1 − 7
29 𝑇𝑜𝑡𝑎𝑙

Middle is 15th #

𝑑% =
𝑓𝑖𝑛𝑎𝑙 − 𝑖𝑛𝑖𝑡𝑖𝑎𝑙

𝑖𝑛𝑖𝑡𝑖𝑎𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑑% =
13175 − 15500

15500
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= −0.15 = −15%

3

4
⎯⎯𝑥 −

1

2
⎯⎯𝑦 = 12 𝑎𝑥 − 𝑏𝑦 = 9

12

9
⎯⎯⎯=

4

3
⎯⎯

𝑎 =
3

4
⎯⎯×

4

3
⎯⎯= 1 𝑏 =

1

2
⎯⎯×

4

3
⎯⎯=

2

3
⎯⎯ 1 +

2

3
⎯⎯=

3

3
⎯⎯+

2

3
⎯⎯= 5/3

SAT #9 - 32,33,34,35,36
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